S“"“Xh'eme

NBSP-048

Nudge Bar

for
Mamfac‘rw‘ers of Subaru Accessories Subaru Outback MY 15 on

Bullbar Component List

' Tools Required

* Fitting instructions
* Aluminium nudge bar

» Car ramps, chassis stands or hoist

* Clip removal tool or flat blade screwdriver
» 2 x steel mounting brackets - left & right * 10mm, 12mm, 13mm, 19mm sockets +

* 4 x M12x35mm bolts
* 8 x M12 washers

* 4 x M12 nyloc nuts

* 6 x M8x35mm bolts

* 6 x M8 small washers

ratchet drive
* 18mm spanner
» Hacksaw or jig-saw to trim bumper

'Fitting Instructions

10.

Elevate front of vehicle safely — ramps, stands or hoist.

Open bonnet and remove 6 clips from top of bumper
between the headlights.

Remove 2 plastic clips from wheel arches.

Remove 9 plastic clips from the underside of the bumper
attaching splash guards and lower air dam.

Reach in through the underside splash guards and
unplug the fog lights.

Gently 'peel' the bumper away, starting at the wheel arch
pulling away from the car and unclipping the bumper from
under the headlights.

Remove 5 bolts securing the plastic frame from the
underside of the factory fitted reinforcing bar. Unclip the
temperature sensor from the frame and remove the
frame.

Unbolt the 8 bolts (4 each side) that secure the factory
reinforcing bar to the front of the car.

Fit nudge bar mounting brackets into position, over the
top of the reinforcing bar baseplates.

Insert 3 M8x35 bolts + washers into nudge bar brackets
and tighten loosely. Use original reinforcing bar bolt in the
fourth hole. Repeat on other side. Tighten all 8 bolts.

SubaXtreme Pty Ltd, 26 Braidwood Road, GOULBURN NSW 2580 ABN: 96 119 853 904
ph: +61 2 4821 1555 fax: +61 2 4821 7797
web: www.subaxtreme.com.au email :info@subaxtreme.com.au




Nudge Bar

S“baxh‘m NBSP-048

for
Mamfac‘rw‘ers of Subaru Accessories Subaru Outback MY 15 on

Fitting Instructions continued...

11.

12.

13.

14.

15.

16.

17.

18.

19.
20.

Cut out 2 horizontal bars from lower grill on the bumper on the
very outer sections. See photo

Re-fit the plastic frame underneath the
factory reinforcing bar.

Re-fit the temperature sensor to the frame.

Slip the plastic front bumper over the nudge
bar brackets and carefully clip back into
position.

Re-fit the original plastic clips to their
original positions. 6 between the headlights,
2 in wheel arches and 9 in the under-side.

Fit aluminium nudge bar to the steel
mounting brackets using the 4 M12x35
bolts, 8 M12 washers and 4 M12 nyloc nuts.

Gently tighten 4 bolts so that nudge bar holds position but can still
be moved.

Manouver nudge bar into correct position/alignment, ensuring it
sits level with the car.

Tighten all 4 M12 bolts.

Stand back. Admire handiwork and your NEW SubaXtreme
nudge bar!

You can view the fitting video on our YouTube channel at the

Y[]u Tuhe following address:-

https://www.youtube.com/watch?v=bxA1TmTCU9Cc

Find us on

Facebook

SubaXtreme Pty Ltd, 26 Braidwood Road, GOULBURN NSW 2580 ABN: 96 119 853 904
ph: +61 2 4821 1555 fax: +61 2 4821 7797
web: www.subaxtreme.com.au email :info@subaxtreme.com.au





